# E:\TP info 24-25\Un dernier exercice.py
01| ## Questions 1
02| def occur(L, k):

03] oc =0

04| for el in L[k:]:
05| if el == L[k]:
06| oc +=1
07] else:

08| break

09| return oc

10|

11| L=[1,2,1,1,1,2]

12| print(occur(L,0), occur(L,2),occur(L,-1))
13|

14| ## Question 2

15| def atomisation(chaine):

16| return [ int(car) for car in chaine]
17|

18| print(atomisation("1213"))

19|

20| ## Question 3

21|

22| def decodage(L):

23| L indices = [0]

24| N = len(L[1:])

25] for k in range(1,N+1):

26| if L[k] != L[k-11:

27 | L indices.append(k)
28| V = [L[k] for k in L indices]

29| M =[occur(L,k) for k in L indices]
30| return V,M

31|

32| def bigbang(N):

33| u="1"

34| print(u)

35| for k in range(N-1):

36| L = atomisation(u)

37| V,M = decodage(L)

38| u=""

39| n = len(V)

40| for j in range(n):

41| u 4= str(M[j1)+str(V[il)
42| print(u)

43|

44| N = 10

45| bigbang(10)

46 |

47| ## Question 4
48| import matplotlib.pyplot as plt
49|



50| def

51|
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67|

bigbang2(N):
u="1"
longueurs=[1]
for k in range(N-1):
L = atomisation(u)
V,M = decodage(L)
Y "o
n Llen(V)
j in range(n):
u 4= str(M[jl)+str(V[il)
longueurs.append(len(u))
return longueurs
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bigbang2(N)

.title("Longueur des termes de la suite audioactive")
.plot(range(N),L,marker=".");
.show()



